359 FUNCTION FITTINGS / EXHAUST VALVES WITH FLOW REGULATOR / TECHNOPOLYMER

0°C = 60°C

Working pressure:
10 Bar

Compressed air
(do not use with water)

Metric ISO 262
M3 and M5

Polyamide PA, Polyurethane PU

Manual flow regulation

ONONON(EONC

CONSTRUCTION DETAILS

Body: Nickel-plated brass and PBT
Collet: POM

Collar: Zinc

Lock claw: Stainless steel AISI 301
Back ring: POM

Seal: NBR

O-ring: NBR

Handle: Brass

Lock nut: Brass

Valve: HNBR

Filter/Silencer: PE

SILICONE Q334

« Products in compliance with
? REACH EC Regulation 1907/2006

Products in compliance with

ROHS3 ) i direciive EU2015/863

Handle

Lock nut

Filter /
Silencer

Back ring

Collar

Seal Collet

Lock claw

PLUS

Quick exhaust valve with flow regulator.
High-speed cylinder operation.

Complete with silencer and flow regulator.
Combines three pneumatic functions in one

compact body (quick exhaust, flow regulator
and silencer).

Flame resistant (UL 94 V-0).

TIGHTENING TORQUE

METRIC ISO 262
THREAD M3x0,5 M5x0,8
Nm 1,5 1,5

9 drawings and technical data are not binding & can be changed without notice



ESC-M

FUNCTION FITTINGS / EXHAUST VALVE WITH FLOW REGULATOR / TECHNOPOLYMER

Quick exhaust valve, metric thread, with manual flow regulation

360

B CODE (@D ep T |11 212 F1E2 A B g
ESCO4M3 103 | M3x0,5 | 11,9 1322|347 |258| 49 | 30 | 14,8 11,4
N 1 ESCO4M5 ‘ 103 | M5x0,8 | 11,9322 |34,7|258| 49 | 3,6 | 148 1,3
8.:'3 ESCO6M5 6 125 | M5x0,8 | 119 132213471264 | 49 | 36 | 165 12,3

L !

drawings and technical data are not binding & can be changed without notice



361 FUNCTION FITTINGS / EXHAUST VALVES WITH FLOW REGULATOR / TECHNOPOLYMER

0°C + 60°C

Working pressure:
10 Bar

Compressed
(do not use with water)

Manual flow regulation

- Taper gas BSPT ISO 7

from R1/8” to R1/2" with teflon
- Parallel gas BSPP ISO 228

from G1/8" to G1/2"

OEIONNONC)

Polyamide PA, Polyurethane PU

®

CONSTRUCTION DETAILS

PLUS

Quick exhaust valve with flow regulator.

High-speed cylinder operation.

Complete with silencer and flow regulator.
Flame resistant (UL 94 V-0).

®

Body: Nickel-plated brass and PBT
Collet: POM

Collar: Zinc

Lock claw: Stainless steel AISI 301
Back ring: POM

Seal: NBR

O-ring: NBR

Handle: Nickel-plated brass
Locking nut: Nickel-plated brass
Valve: Polyurethane
Filter/Silencer: PE

SILICONE g3i{34

Products in compliance with
EC Regulation 1907/2006

Products in compliance with
the directive EU 2015/863

Collar Collet

SIZES ESC-R - ESC-G

Lock claw S e ‘IIH'
small _"\““ '
Filter / [
Silencer 00 GESESSTCESERE T oS8 .
Back rin r
9 mo e
medium o
I.‘: T ke
C U
large 3
TIGHTENING TORQUE TIGHTENING TORQUE
TAPER GAS BSPT ISO 7 PARALLEL GAS BSPP ISO 228
THREAD 1/8" 1/4" 3/8" 1/2" THREAD 1/8" 1/4" 3/8" 1/2"
Nm 7 12 22 28 Nm 10 15 25 40

9

drawings and technical data are not binding & can be changed without notice



FUNCTION FITTINGS / EXHAUST VALVES WITH FLOW REGULATOR / TECHNOPOLYMER 362

ESC-R Quick exhaust valve, BSPT thread, with manual flow regulator
L2 " CODE @D ep T |11 2712 2 A B H| g

| ESCO4RO1-S 125 | R1/8" |2450633(720(293| 88 | 80 | 165| 10 | 215

UUUU ““"i ESCO6R02-S © 12,5 R1/4" 1245(633|720|31,3| 88 [100|165| 14 |263

He0a0 ESCO8RO1-S 148 | R1/8" | 265|651 717 |293| 88 | 80 [183] 10 |225

& ESCO8R0O2-S 148 | R1/4" 265|651 |71,7|31,3| 88 |100|183| 14 | 274

<4, ESCOSROIM | 8 |148| R1/8" |298 732|823|345| 120 80 |183| 14 |400

ESCO8RO2-M 148 | R1/4° 298|732 823|375 | 120 |100|183 | 14 | 429

N ESCO8RO3-M 148 | R3/8" |298|732|823|385|120 110|183 | 17 |485
ESCTOROT-M 175 | R1/8" | 317|750 | 841 | 345|120 80 [201 | 14 | 417

ESC10R02-M 17,5 R1/4" 31,7 750|84,1 (375120100201 | 14 |44,7

ESCT0RO3-M 17,5 R3/8" | 3171750184, 1385|120 11,0 | 20,1 17 1 50,2

ESC10R0O2-L " 17,5 R1/4" 34,4180, (886|424 |150]100 20,1 | 19 |725

ESCT0R03-L 175 | R3/8' | 344|801 886|434 150 | 110|201 | 19 | 765

ESC10RO4-L 175 | R1/2' | 344|801 886 | 464|150 | 140 201 | 21 |852

ESC12R02:L 205 | R1/4 | 370 | 831|916 | 424|150 100|231 | 19 |752

ESCI2RO3L | 12 |205| R3/8" | 371 | 831|916 434|150| 110|231 | 19 |792

ESC12R04-L 205 | R1/2" 371 1831|916 464|150 (140|231 ] 21 |88,

ESC-G Quick exhaust valve, BSPP thread, with manual flow regulator
L2 5 CODE @D ep T |1 2712 FE B2 A B H| g

| ESC06GO1-S 125 | G1/8" |245|633|720|263| 88 | 50 | 165 | 14 | 245

ufuliln 31’ ESC06GO02S | - | 125 Gl/4" | 245|633 720|263 | 88 | 65 | 165 17 |280

He0a0 ESC08GO1-S 148 | G1/8" 265|651 717|263 88 | 50 | 183 | 14 | 255

= ESC08G02-S 148 | G1/4" |265]|651|71,7(283| 88 | 65 (183 | 17 |294

<4 . ESCO8GOIM | 8 |148| G1/8" |298 732|823| 315 120| 50 |183 ] 14 |380

ESC08G02-M 148 | G1/4" |298|732(823[335[120| 65 |183| 17 | 419

ESCO8GO3-M 148 | G3/8" | 298|732 823|330 120| 65 [183| 20 | 465

" ESC10GO1-M 175 | G1/8" |317 750|841 | 315 120 | 50 | 201 | 14 |397
ESC10G02-M 175 | G1/4 | 317|750 | 841 (335|120 65 [201 | 17 | 437

ESC10G03-M 175 | G3/8" | 317|750 841 330|120 65 |201| 20 | 482

ESC106024 | | 175 | G1/a 344801 | 886 384|150 65 | 201 | 19 |685

ESC10G03-L 175 | G3/8" |344 /801 |8806|379 150 65 201 | 20 | 715

ESC10G044 175 | G1/2" 344|801 | 886|394 |150| 80 | 201 | 24 |782

ESC12G02-L 205 | G1/4" | 371 1831 |91,61384|150| 65 |231| 19 | 712

ESC12G034 | 12 |205| G3/8' | 371 | 831|916 | 379|150 | 65 |231| 20 | 742

ESC12G04L 205 | G1/2° | 371 831|916 39,4 | 150| 80 231 | 24 |81

drawings and technical data are not binding & can be changed without notice a



